No. Classification Product name or code
Plan view s:1/10 1 Count Natural stone/
ounter ceramic/quartz/wood
80 215 220 215 80 Reinforcing plywood (t15) 2 Sink HS810
-m Three cutouts (W25xH15)
/ L LLLLL AL L 7/ 4%/ Package

P 1 No. Product name Product code Quantity

I/ o |/ 1 Sink HS810 1

o g < 2 Drain cover HF106x166 1

N 3 Sle 3 Mounting bracket suz 8

o) | 2|5

N i ‘g S “ 4 Pan head screw M4x6 8

.:‘1 5 E % 5 Mounting bracket SU-21 6

To| i AR 6 Truss head tapping screw M4x18 6

5 f 9 7 Flat washer M4 6

| ] | cu\') | 8 Skimless drainage set - 1

| ’(j; | 9 Basket - 1

Separately sold items

+2<'im No. Product name Product code Quantity

782 5 (cut out length) 1 Bottle rack HS810-BR 1

810 (sink length) 2 Low deck plate HS820-LDP 1

820 3 Cutting board SKA800-CBS 1

A Notices

1. % % % It is applicable with counter thickness of more than 12mm.

2. Install the reinforcing plywood layer on the back and adhere it to the
counter using epoxy adhesive.

3. Secure the sink and the plywood layer using 14 mounting brackets.
Please note that there are two types of brackets are being used.

4. Apply modified silicone to the joint between the sink and the counter
for waterproofing.

5. Adjust the dimensions of the plywood layer based on the sink's
load bearing level, the counter dimensions and the cabinet dimensions.

SecA-A s125

SecB-B s:125

78272 5272
(cut out length) (cut out width)
. f 780 1 . . 1 525 1_Faucethole Modified silicone
Modlfu'ed silicone 1mm sink rim reveal installation Modified silicone . ' Modified silicone ¥1mm sink rim reveal installation position
Epoxy adhesive Epoxy adhesive Epoxy adhesive Epoxy adhesive

S ***S \ / % g R kkk \ \ \ ‘ ,/,/ / S
L r J e r ‘ : / B A

N~ [Te) ™~ ™~ w0

/ll N |J H;H Il %A i // ‘ M h

Reinforcing plywood (t15) / = L L] \ Reinforcing plywood (t15) Reinforcing plywood (t15) L l L Reinforcing plywood (t15)
Mounting bracket (SU-21) 5 5 Mounting bracket (SU-21) 5 ® 38 5
Cut out (plywood)
M4 Flat washer M4 Flat washer H=2mm
Unichrome 820 Unichrome ) 565 )
M4x18 Truss head tapping screw M4x18 Truss head tapping screw Mounting bracket (SUZ t1.6) \ Mounting bracket (SUZ t1.6)
Unichrome 12| 23 Unichrome M4x6 Pan head screw M4x6 Pan head screw
Unichrome Unichrome
Title Under mounting
Product Name HS810
Scale 125 1/10
@ YOSHIMOTO | ™™
lobal
oo GP-240402




	Sheets and Views
	HS810 アンダータイプ取付図


